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ASSIGNMENT NO. 10 

 

1. If 𝑥 +
1

𝑥
= 3, then find the value of 𝑥3 +

1

𝑥3
 

2. Using Remainder theorem, factorise: 2𝑥3 − 13𝑥2 + 26𝑥 − 15 

3. Verify that: 𝑥𝑦 [(𝑥 + 𝑦) (
1

𝑥
+

1

𝑦
) − 4] = (𝑥 − 𝑦)2 

4. Assuming that 𝑥, 𝑦, 𝑧 are positive real numbers and the exponents are all 

rational numbers, show that: (
𝑥𝑎

𝑥𝑏
)
𝑎2+𝑎𝑏+𝑏2

. (
𝑥𝑏

𝑥𝑐
)
𝑏2+𝑏𝑐+𝑐2

. (
𝑥𝑐

𝑥𝑎
)
𝑐2+𝑐𝑎+𝑎2

= 1 

5. If (𝑥 − 2) and (𝑥 −
1

2
) are factors of 𝑝𝑥2 + 5𝑥 + 𝑟, then show that 𝑝 = 𝑟. 

6. The polynomial 𝑝(𝑥) = 𝑘𝑥3 + 9𝑥2 + 4𝑥 − 8 when divided by (𝑥 + 3) 

leaves a remainder 10(1 − 𝑘). Find the value of 𝑘. 

7. If 𝑥 and 𝑦 are two positive real numbers such that 8𝑥3 + 27𝑦3 = 730 and 

2𝑥2𝑦 + 3𝑥𝑦2 = 15, then evaluate 2𝑥 + 3𝑦. 

8. Examine whether (𝑥 + 1) is a factor of 3𝑥2 + 𝑥 − 1?  

9. If 𝑥 and 𝑦 are two positive real numbers such that 𝑥2 + 4𝑦2 = 17 and 𝑥𝑦 =

2, then find the value of (𝑥 + 2𝑦). 

10. If (𝑥 − 𝑎) is the factor of 3𝑥2 −𝑚𝑥 − 𝑛𝑎, then prove that 𝑎 =
𝑚+𝑛

3
. 

 


